GCSE (1-9)

Quadratic Formula

Instructions

* Use black ink or ball-point pen.

» Answer all questions.

 Answer the questions in the spaces provided

— there may be more space than you need.

* Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working out.

Information

» The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

» Read each question carefully before you start to answer it.

* Keep an eye on the time.
* Try to answer every question.
* Check your answers if you have time at the end
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(Solve X+5x+3=0 \

Give your solutions correct to 2 decimal places.

a = | b=5 E2 8

x = —b2 m

= -(3) N{E-u)(3)
201

= —0.70 (@dp) = — 4. 30 (20¢)

(Total for question 1 is 3 marks)

2 Solve 2x*+13x+7=0

Give your solutions correct to 2 decimal places.

- S b= r%= C

()
N

s o= — bl JB® ~Hac
2 o~

=By L 03> -4(27)

a(x)

= ..-—O‘Sq or = 5‘?/
Llolp) =3 5 wp "5.Cf]

..........................................................

(Total for question 2 is 3 marks)

3 Solve 3x*+2x-13=0

Give your solutions correct to 1 decimal place.

%= =(2)*V(2)" — 4(3)(~'3)
2(3)

= 1.8 (ldp)  ana = 2.4 (ldp)

\ (Total for question 3 is 3 marks)/




(Solve 5x2+x—-11=0 g k= —’of J L Ga C.\
2o

Give your solutions correct to 3 significant figures.

x= ()Tl -u(5)(=D
2.(T)

= /.39 (354) ond —1 57 (35}

/.39 and -/-57

(Total for question 4 is 3 marks)

5 Solve 3x*-11x-13=0

Give your solutions correct to 3 significant figures.
a = 3 b= —/ | o= —I138

e = — (~EN - w () (-13)

2 (3)

= 4.61 (3st) ant —o.941 (3s))

.61 and —O- 94 ]

..........................................................

(Total for question 5 is 3 marks)

6 Solve 5x* =6x+3

Give your solutions correct to 3 significant figures.
Sx % b — 3 = 0O

a=5 b=-§ c - — 1

= — (- -4 (s)-3)
2({5)

= f. BT (35}) and — 0. 380 (55))




7 Solve x*+2x—-7=0

Give your answers in the form a + bv/c .

o =

/ be=d po—77

2= —(2) F () -4(:)(-7)

2(1)

=-)* 22

(Total for question 7 is 4 marks)

8 Solve ¥*-4x-1=0

Give your answers in the form a +/b .

9

a=/ 6bz=-% ==/
— ." + — &£ L—- -
2 = (-4) 2d (-6) - ¢(Ci)(-1)
21{1)
= 2t{5
2 TN
(Total for question 8 is 4 marks)
Solve x*+6x—11=0

Give your answers in the form a = bv/c .

a = 4 b=6& Ce=l)

I:

— (&) TV (6)* —4()( 1))

2.0 4)
- 3t 25

(Total for question 9 is 4 marks)

=




10 The diagram shows a six sided shape formed from two rectangles.
All measurements are given in centimetres.

o

2x+1 3x—9

The area of the shape is 24cm’
(a) Show that 2x2+7x—63=0
(2o +1) (o =3) 4(3oc-) = 24
S~ 4 - F 12w =Te = &G
Ioe® + T — 29 = 2H
2%+ +Tx — 6> =0

(b) Find the value of x
Give your answer to 3 significant figures

A= 2 T C"‘.:——(:B

- (7)) 2 " ~5l2)] 63D
2 (2)

T =

= 4.73 o — 7.63 (53}’)

2 (anneot Le ne g a Lve  or the

@sH)

(Total for question 10 is 5 mhrks)

(2)

(3)

£




( The diagram shows a six sided shape formed from two rectangles.
All measurements are given in centimetres.

?
%1 ‘
T
5
v ) o 22 1+2 _\N
- 342 N

The area of the shape is 35cm”

1
(a) Showthat 2x2+8x—25=0

x[Zx//) + 5(2x +2) = 35

2% - x + (0X #/0 = 3.9

sz—-f—ex +/0 = 35

=

2x +7x -25

= O
3 (2)
(b) Find the value of x
Give your answer to 3 significant figures

.o (a)2 [ (9)* =4 (2)(-25)
| 2(2)

= [. T4 or — & oY
P4

Canrnoct be Meja,ﬁu{’ e = /-9‘7 (33“})

_______ LTE

3)
(Total for question 11 is 5 marks)

J




IC The diagram shows a six sided shape formed from two rectangles.
All measurements are given in centimetres.

The area of the shape is 26cm’

(a) Show that 3x2—-21x+16=0

(b) Find the value of x
Give your answer to 3 significant figures

I 5

X

[

x—5

3x 6

31[‘1_,6) v é‘(7—)ﬁ) = 4B

3t — 5 +42 —- 62 = 2§
Bx® -2/ +42 = 2 6
3x® - Dfoe 1€ =4

@)

= = [—21) = f(—m)l' — 4 (3)(Lh)

2 (3)
= 6./3 eor 0.870 (Rs))
C@itinet Le ©o.870 —2 This wwowld Mok
5) A€gative - +~ = 613
| ’ B -E & .
3)

(Total for question 12 is 5 marks)

e
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G The diagram shows a right angled triangle. \

All measurements are given in centimetres.

\\“x
~
h
\ x+5
x+1] g §
.
\\\
1 e
x+2
(a) Show that x*—4x—20=0
z . " -
(xf-_’)z' -r()c+2) = {9¢ +=5)

(o +e (2 Y + (x+2){= +2) = (1#5)(3(*"5)

2% Fx X —1 *+ xt +2x +2x +4 = 54 Sy + 5% +2.5

2361+ 6 >c + 5 = xz /03¢ + 25
x?' —x — 20 =0
" (3)
(b) Find the value of x
Give your answer in the form a + he.
o=/ b=—% = —Z0

o — L) s C-9) - #(1) (- 20)
2 (/)

= 2 *30¢

-----------------------------

3
(Total for question 13 is 6 marks)
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